BE

12T, kg
17708, tonne

RE

1R, ft
19, in
1%, m

BE
18759, in’
18754, m?

igs
11I3Y, in®
1NIOR, ft

128000/, US gal

2.20485, Ib
10002, kg

0.3048K, m
2548, mm
3.28R, ft
39.371, in

645.28 5824, mm?
10.76 8 5R, ft?
155085, in?
1.196 8 750%, yd”

16387172k, mm®

0.028317/5%, m®
6.24m/I00F, gal
28.323F, |

0.833= M08, gal

KEER®
1MHRKEE  62.45
1RENEKEE 105
1XI/5KKEE 10007
1TRAKES /Nay
F8

L5 73]
Ktera T 10"
Sgiga G 10°
J¥mega M 10°
Ftilo k 10°
B5*)hecto h 107
+*)deca da 10
*)deci d 10™
[EB*)centi c 107
2milli m 107°
f¥imicro u 10°°
#linano n 107°
Zpico p 107"
Ffemto f 107"
fJatto a 107"

NUEFEARZERTRNSER LIERE

(9]

12, bar =14.504 |bf/in?
=100 kN/m?®
=1.020 kgf/cm?

TRRKIE =0.4332 Ibf/in?

=0.8824T U Rk4Ein Hg
=29.87%E mbar

1R-IRBEX, =14.223 Ibf/in’

kgf/cm? =98.07 kN/m?
=0.9807 bar
1A/ 5K, =0.145 Ibf/in?
kN/m? (F08, kPa) =0.0102 kgf/cm?
=0.01bar
1B-DIR8 5T =6.895 kN/m?
Ibf/in? (psi) =0.0703 kgf/cm?
=0.0689 bar
TRERRET], atm =14.696 Ibf/in’
=1.013 bar
1$£H, torr = 12K mm Hg
=0.0193 Ibf/in?
=1.333%E mbar
neE

1TIHRMDEE, #3min
1RTHR, Vs

= 1.6981T/7//)\BF m*/h
= 13.22255IN078/0$E gal/min
= 793 A0/ B gal/h

E=R
EHETT5R/DEE, SCFM = 1.605EBTTJTHK/\ES,
(M1atm, 60°F5tE) Nm%h (M 1atm, 0°CE1E)

BE

VRIS, kgfm®

TBATHOR, Ib/ft

= 152/ gl
= 0.0624 Ib/ft*
=16.018 kg/m®

ERREN
1ZREIFAEEENI, Btu =1.065FEH kJ
1808, therm =10° Btu
1RENAEEBNI/FE, Btu/lb =2.326 kJ/kg
19k, kcal =4.187 kJ
1+, kW = 1TEE/M /s
=1.3415%/ hp
= 0.948HBERAS EN/H)
Btu/s



